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Answer ALL questions.

PART A — (10 x 2 = 20 marks)

1 Match the words i Column ‘A" wih their meaiog in Colunn 1
xl
Calumn A Columan
@ Scanty ©  Pradent
®  Prediec G Prawnd
©  Sancious Gy Deficient
W Simulate ) Forell

2 Rewrite the following senfences as directed.

) A skilled operator can carry owt many operations on a lathe
(into passive voice)

) The appropriate gear for the job is selected by the operator
Ginto active voice)

Edit the following correcting errors of grammar, speiling and punctustion
@x

A earthquack is @ sudden violent shaking of the earths surface due for the
break and shifting of rock heneathe the earths serfice




[image: image2.jpg]4. Write a single sentence definition for each of the following terms : (2 x 1= 21
@ Transformer

&) Microprocessor.

Expand the following compound nouns

@ Buderly valve »
@ Lifeben
©  Combustion chamber
@ Gus evlinder

6. Mako antanyms of che following words by adding suitable profises : (1% | =2)
@ Common
) Purity
@ Sensitive

(@ Advantage

Fill in the blanks with appropriate prepositions @xt=1

() Although the programmer had taken the rotation of the Barch
account. he had forgotten that the Earth aleo rotates round

the sun

the business of

() The semiconductor business is different —
building big computers.

() Readers can search —————— different types of books by campuer.

(@ The manufacturers are trviog o speed —— the process of
production

& Fill in the blanks with the carruet tense form of the verbs given in brackets
@xt=n

Thomas —————— (be) an author. He (write) - mystery novels.
and travel memoirs. He (write) — since he was twenty-cight
Altogether, he (write) ——— seven nosels, three collections of short
stories and 1 book of poctry.
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[image: image3.jpg]Make sentences expressing purpose using the hints given below (2 1 =2)
(@ Rain water Harvesting : Augment the ground siter table.
) Maderator : Slow down the speed of frie neutrons,

10 Juin the following pairs of sentences with suitable Cause and Effect
expressions @x1=9)

i) Dust particles in the atmosphere ; accurate observation s dificult

() Expansion of the shaft; misalignment occurs at the bearings.

PARTB—

(5 16 = 50 marks)

1L Read the following passage and answer the questions that follow it

July 16, Monday 1945 is an unforgettable day in the history of the world
That was the day when the first atom bamb of the world was tested at
580 wan. The Northern desert, two hundred miles away from Los Alamos in
the U.S.A. was selected as the site for testing this atom bomb. A 100-foot high
‘metal tower weighing 32 tons was mounted on a hill on which the atom bomb
wits kept. The spectators were kept at u distance from the place to witness the
tosting of the bomb. The bomb wis exploded at the Bxed time. A terrible sound

and intense ight were produced. Oppenheimer, who was siting: in the control
room nine miles away, felt the hent of the homb, When the bomb was exploded
40,000 feet high, a mushroom shaped cloud was formed. The metal tower
totally disappeared from sight. The place below the tower meled and was

canverted inta glass. All animals in one squarn mile were faund dend. Bven
sukes nnd other underground reptiles died dus 1o the heat. After secing the

terrible impact of this explosion the whole world was shocked

That was the time when the World War 1 was in full swing. Japan was
ot ready to surrender. America dropped an atom bomb at Hiroshima in
Japan. The bomb killed 80,000 people and injured about 70,000. The city wis
almost ruined. In addition to that, the Americans dropped another bomb at
Nagasaki. The bomb killed 40,000 and injured about 25000 people. This
incident greatly shocked Oppenheimer and he resigned from the post in Tos
Alamos. Actually, several scientists had been involved in the making of
atom homb. As Oppenheimer wa the president, he eame 1o be called the
Father of the atom bomb. Other scientists were Otto Han, Comptan, Fermi,
Seilar and Albert Einstein,
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[image: image4.jpg]Oppenheimer was born in New York on April 22, 1904. He was educated
i very gaod schaols where he developed his personality as a self-reliant man,
When be was twelve, he delivered a talk, which was related fo rocks.
He sraduntend in Physacs from Harvard University in 1925. Then he went to
Cambridge and did sesearch in Cavendish Laboratory. There he warked under
Erufessor 4.3, Thomson. Tn 1931, he was appointed as Assistant Professar in
the Califorain University. There he conducted many exporiments in Nuclear
Physics. In 1941, he joined the American project on the development of the
atom bomb. In 1942, he was appointed the Project Coordinator. Under his
idance. the atom bomh was made and tested in 1945,

@) State whether the following statements are true or false Bx1=5)

i The spectators wore not given any caution aboul the explosion of
the bomb,

0 The first erial of the droppinge of the bomb proved to be disastrous to
the environment in Los Alamos,

il s ather scientists were involved Oppenheimer could not he called
the Bather of the atom bomb,

) The after-effect of the explasion of the atom bomb did not create any
impact on Oppenbeimer.

(1 Oppentieimer ook the initintive for making the atom bomb himsclf.

(b Choose the mast appropriate meanings of words as they are used in th
text ®x1=6)

6 Maunted
) Dismantied
@ st
G Fixed

L

o
G Eaploded
™ Broke
© B
@ Shattered

@ Smashed
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(i) Reptiles
(1) Snakes and lizards
(21 Amphibians
@ Avins
@ Vertehrates

) Surrender

W giveawny

@ gveuwp
@ giveout
@ gvein

) Ruined
(1) Protected
@ saved
@ Destroyed
@ Proke

(1) Sell-reliant
(1) Dependent on Divine power
) Dependent on Unnatural power
@ Dependable

(9) Dependent on oneself
Choase the response which best refleets the meaning of the text

) The explosion of the bumb
() affected only a limited aren
(&) did not affect any nrea
@ affected a lnrger area
() was not foll after five miles

(i) America dropped bombs on Japan because
) Tt wanted to test the atom bomb
(@) It had more number of atom bombs
@) Tt wanged to threaten Japan
(&) It expected they would not explode
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i) The reason for Oppenheimer's resignation was
(1) He was not interested in the job
@) His expected salary was refused
() He wanted o join somewhere
() He was shacked by the act of bombing of Japan

() Oppenheimer was called the father of the atom bomb because
() He took a lot of fforts to mako ators horabs
() Noone was willing to assist hitm and b did it all alone
@ He wanted to gt the whole eredit and hence did it alone
(@) He was the president alang with the ather sciontisrs

4 Oppenheimer made the ntom hombs beceuse
(1) Ho was interested to make them
(21 Hejoined the American projoct for making them
(31 His parents compelled him to make them

() He wanted to k1l more numbes of people

Call for quotations for the following items

) “Modrey™Demi size English calculators

eyclostyling typewriters

Freese” -water coolers

Officer,  Alpha  Building  consuliants, 7054,
Chenna.

or

As the Purchnse manager of an automabile firm, write a letter Lo
MIS Beta Industries Ted., 10, Ramasamy Road, Chennai, plucing an
order for the supply of muts and bolts. Purnish specifications. a6

s the maintenance Engineer of the Industry where you work, give a set of
eight safety instructions t be followesd in ease of fire in your industey. (1)

0
Imagine that you have got & job in a reputed software company at

Chennai. You need to shift vou family from Madurai. Prepare n checl
0 find a suitable accommodation for yorur fumily,
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Two groups of sentences given belaw are not in the correct order. Select
any ONE group of jumblod sentences and xewrite them in the correct
order

) Water coming down from n waterlall or steam expanding in an
enine is an example of active energy.

The other is water in a roservoir
(i) Matter has teo different kinds of enery

(%) One is active and the other waiting passively to be used

() That is the main reason Do the development of machive

() This i called Kinatic energy by the scientists.

(vif) One thing it suze that man vses energy available al around him.

(i) Such kind of energy that is tored up and not active in called
potential encrgy.

o
) What the software dovs corresponds o human thinking,

) Inasense, the hardware is like the human body and the softveare is
ke the buman brain.

Gil) The brain receives input through senses, processes the messages
and sends out commands to the different parts of the body.

) The hardware is made up of physical objects. which are like the
parts of the human hady

) The computer 3 a combination of hardware and software.

(i) It cancal imagine situstions and compute the consequences, as
human beings can do.

(il Similarly, the processor of the computer receives input, performs
aperations on it and scnds output (o the printer o the sereen.

(i) But there is a Limit to what the computer can do.
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[image: image8.jpg]15, Study the following tables carefully. Choose any ONE. Deseribe and comment
on1Lin sot more than 200 words.

@ PRODUCTION OF CARS IN INDIA

SNO.|  PRODUCER | 1937.88 | 1958.69 | 198990

1 iindustan Motors | 26,557 | 26203 | 28,730

2| Premier Automobiles | 33556 | 38743 | a2,

13

|Morosivavor | sosen | ons05 | 1onons
o |sunivaboors | ass | 1m0 | w

5. sipa Motoes s | e |

or
@ SIEELPRODUCTION 0N MILLION TONS)

sno| coutey | e o5t

T | SO PRGETORIE s [y

o ous

L2 |usa 510

5. {china s01 | 1o | 55a |

| o loommy | a5 5] s6s

5| Indin 105 | 11e | s |

World Produetion | 720.1 | 715.4 | 7947
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